ROTARY JOINT & OTHER HYDRAULIC PRODUCTS | hESigsaREEHEIRS

CFO

£ 5\ 7] o 4% & o B2 L

CFO SERIES 14 MPA
ADJUSTABLE CUSHIONING
HYDRAULIC CYLINDER

T AE ELHEEEL4EHSE INSIDE STRUCTURE

[RRE N R AN RER T R EA AT Nl O TR L [ T -

CFOBD

b4
o

F(4ZPart name

FEZEIZPiston rod
$EEZR ocking nut
FhEE S Dustproof seal
EHFFHETOIl seal for shaft
[FFZ=Gland

HEEEGuide sleeve
OFUE Gasket

Bilfz=Rod cover

OZYE Gasket

£12 Quantity

O oo ~NOoO UL WN =
[ (G [ Y () G ) R P Y

AR E BRI E R Specifications

HEIA#EHydraulic cylinder inside diameter(mm)

T{E7EE Power Fluid

FI &8 Material of cylinder barrel

10
11
12
13
14
15
16
17
18

{EFEEHEEEThe range of pressure(MPa)
{ERiEEEEEThe range of speed (mm/sec)

{EMiBEEEERange of temperature(°C)

4E&{TF=Cushion stroke(mm)

E#EEZERELength of standard piston (PM)

STE4TI2R1501-2500mmiSiEERE (PM)
Piston length when the stroke is between 1501-2500 mm

209 | M EEL R 5

I RB1E

F(4ZPart name

£ Cylinder tube
4&@ECushion collar
OBYE Gasket

fifEEER Wearing ring
TEZSHES Piston seal
7&EZEPiston

1&imEEnd cover

12 Nut

MR Spring washer

®40

25

60

CFODD

= Quantity NO  F{#FZPart name
1 19  =EiEEAdjustable nut
1 2021 OB Gasket
1 22 7\FEEHexagon nut
1 23 FEpdEAdjustable lead screw
2 24 HiiETie rod
1 25  #NIEHalf snap ring
1 26  fEIRBaffle ring
8 27  EiFERRod baffle ring
8 28  EEEERAdustable nut

®50

25
32
65

®63 »80 ®100 ®125
LUBIBZ 12 #E K BRI Filtered Ol
e Carbon steel STKM-13¢/H# & Stainless tubes SUS 304

0.3-14 MPA(3-140kg/cm?)

8~300(mm/sec)
-10 ~ + 60 (°C)
25 25 30
36 40 59
65 80 120

g2 Quantity

1
2
1
1
4
2
1
1
1

30
59
120

CFOB

63

35

100

LB

%% Series

B RAE
Magnetic

Fixed Cushioning Type

SHELPI{E
Hydraulic cylinder
inside diameter

&y Rod

1772 Stroke

BEEERN
Accessories
for body

O EERT
Accessories
for rod

Z7Z ORDERING INDICATION
fl: CFOB-R-D-63/35-100-LB-Y

CFOB fZieR

Standard type I:E[}E: :|

HEECER: ABR4A Blank: No magnet
R: ARG (GEA®40-©100) With magnet

CFOD & d —lh
P

Double Rods type '-U

RRFEAEP40-0100

mzges M Blank: No cushion D: #f8I42%& cushions on both ends
F: BUZ{BI4E%& cushion on head cover B:1&ZfHI4Ef& cushion on end cover

®40 d50 P63 D8O

®20 D30 P35 D40 D50
HESOER: AR
Blank: standard rod

ffESteel barrel (®40-9200)
B8 Iron barrel (P40-D100)

®100 @125

®60

BAITIE: 4K Max4m
BAITE: 2.8 Max:2.8m

ZifE{TFEStandard stroke: 50, 100, 150, 200, 250, 300,
350, 400, 450, 500, 600, 700, 800, 900, 1000.

FABUERTEY Front flange type
FBY&AHEL Rear flange type
LBRIEEESFoot type
CB#E1zEDouble trunnion type

CBP  CB Pf§Pin CB with pin

Y YEUEEE Y joint
YP Y+Pin Y with pin
| 124558 | joint

KG i¥&h%58 Floating joint

LA FAIEER! Foot type
TC E#HE Trunnion type

CAB CA+P+CB

nfagda

PHS faERIEEE Rod-eye joint

T TEYEEE T joint

A TEEIEAdjustable nut

iiii

PNEUMATIC & HYDRAULIC CLAMPS | 210

apply to bore ®40-®100

g1m|
gl

CA EEA Single trunnion type cof[ ||

siml

o[ 1]
W] ]

H J2E#EEEWelding sleeve joint lﬂ:[:U

-



1Zi#E CFOBD +FAZ! FiAREEY Front Flange Mounting Type

IR
10K 2_pPT 4-OX Os 4-N
- / |
P ik B 0 ¥ @
~ V
h—( i
S S @ @+ > 2 fEts
= o
% P D
D EF|. G i L+Stroke LH M| U
P+Stroke v
Unit:mm
ABER~dimensions LZHEMERR I mounting dimensions
BORE A B D E F G H K L M N P R S PT | C U V W X Y
®40 20 MIBI5 30 20 11 36 26 54 50 13 MIOXI5 143 65 45 14" 11 40 95 118 46 11 69
®50 30 M26x15 35 30 13 42 34 68 50 13 MIOXI5 169 75 52 3/8" 13 45 115 145 58 13 8
®63 35 M3OXI5 40 35 15 42 34 75 50 15 MI2175 176 90 63 38" 15 55 132 165 69 15 9B
®80 40 M35x15 45 35 18 46 40 79 50 17 MIex15 189 110 80 12" 18 55 155 190 87 18 118
®100 50 M45I5 55 40 20 50 40 90 69 19 MI&I5 219 135 98 12" 20 65 185 224 109 20 145
125 60 M50x20 65 45 24 58 48 104 69 21 M22x15 244 165 122 34" 24 75 224 212 132 24 175
Z#E CFOBD+FBE! 1&/AR§EY Rear Flange Mounting Type
R
K 2-PT = 2 Os 4-N
_10 /
gr el o0& o
— A >
N4
8| =| DR o | = i
L fan)
S0 | OD

D FI. G L+Stroke H
P+Stroke
ZABER~Fdimensions
BORE A B D E F G H K L M N
®40 20 MI8&15 30 20 11 36 26 54 50 13 MI10x15
O50 30 M26x15 35 30 13 42 34 68 50 13 MIx15
D63 35 M30x15 40 35 15 42 34 75 50 15 M12x1.75
®80 40 M35x15 45 35 18 46 40 79 50 17 MiI6x15
®100 50 M45x15 55 40 20 50 40 90 69 19 M1815
P125 60 M50x20 65 45 24 58 48 104 69 21 M22x15
EEEIE

TEONIAUAREBRER I, REBAAERTERTINT.
2 CFOFSWTRERIBIA1500mmES, JEERE (PM) 2R, THRYTIRAE

1B1500mmiE, JEERE(PM)ES

PetEERIER,

3AFIWTRAHBIB000(E) mmis, BNHAR-HREEREEE.
ARZDE IZIBRAEMS0mm (&) LIRS, EYMSAERY,

SASTRERIEEZ IR TIE.

211 | R BB R

Unit:mm
Z#4ERR I mounting dimensions

@ R S PT | P U \ W X Y

40 65 45 1/4" 11 154 95 118 46 11 69
45 75 52 38" 13 182 115 145 58 13 &5
5 9 63 38" 15 191 132 165 69 15 98
55 110 80 1/2" 18 207 155 190 87 18 118
65 135 98 12" 20 239 185 224 109 20 145
75 165 122 3/4" 24 268 224 2712 132 24 175

NOTE

1.For axis extending processing,if the length is not specified,then it should
follow our company's stipulation for processing.

2. For the CFO series whose stroke is less than 1500mm,the length of the
piston is shown in the affiliated table for those customized CFO whose
stroke is more than 1500mm,the length of piston conforms to product
specification.

3. Middle rod holder must be installed for those HO whose stroke is equal
to or more than 2000mm.

4.The external diameter would be round when the size of rod nut is equal
to or more than M50mm.

5.AST stands for the adjustable stroke designated by customers.

BORE

®40
®50
®63
D80
®100
®125

BORE

®40
®50
®63
®80
®100
®125

20
30
35

50
60

20
30
35

50
60

&% CFOBD+LAB! ZEAMIEEEL Right & Left Foot Mounting Type

K L+Stroke H
10 2-PT R N
IRl -] @@
Y “’I -0 @,” > S 4-@X
o [ [ H AR ]
as
N IR Q+Stroke M V)
P+Stroke \
Unit:mm
ABER~dimensions LZHEFERR I mounting dimensions
B D E F G H K L M N C R S PT P Q T U \Y X Y Z
M1815 30 20 11 36 26 54 50 13 MIOx15 40 65 45 1/4" 143 81 13 90 112 11 65 325
M26x15 35 30 13 42 34 68 50 13 MIOx15 45 75 52 3/8" 169 88 15 109 132 13 75 375
M30x1.5 40 35 15 42 34 75 50 15 MIx175 55 90 63 3/8" 176 8 18 128 154 15 90 45
M35x15 45 35 18 46 40 79 50 17 M1i6x15 55 110 80 12" 189 93 20 152 184 18 110 55
M45x15 55 40 20 50 40 90 69 19 M1815 65 135 98 12" 219 114 24 178 210 20 135 675
M50x20 65 45 24 58 48 104 69 21 M2x15 75 165 122 3/4" 244 122 28 211 250 24 165 825
T CFOBD+LBZE! FifZHIEERY Front & Rear Foot Mounting Type
K
D E
10 2-PT M os =
] g i AR/
) </ A\ Y
N—d
O <,, - [ | i ch U
L e 40X | D
7 =7/
=IN4EE i B [l
W __|F G L +Stroke H U
Q+Stroke V R
Unit:mm
ABER~Fdimensions LZHEFERAR I mounting dimensions
B D E F G H K L M N C R S PT Q T U \Y w X Y Z
M1815 30 20 11 36 26 54 50 13 MIOx15 40 65 45 1/4" 187 8 45 13 32 11 755 43
M26x15 35 30 13 42 34 68 50 13 MIOx15 45 75 52 3/8" 209 8 52 15 35 13 875 50
M30x1.5 40 35 15 42 34 75 50 15 MIx175 55 90 63 3/8" 225 10 63 18 42 15 105 60
M35x15 45 35 18 46 40 79 50 17 Mi6x15 5 110 80 12" 254 12 80 20 50 18 127 72
M45x15 55 40 20 50 40 90 69 19 M18&15 65 135 98 12" 289 12 98 23 55 20 1525 &5
M50x20 65 45 24 58 48 104 69 21 M2x15 75 165 122 3/4" 331 15 122 29 66 24 1875 105

PNEUMATIC & HYDRAULIC CLAMPS | 212



Z#E CFOBD+CAZ! BEHA! Single Trunion Mounting Type

o R
10 2-PT oS 4-N
@ i V/ uiv @X ) i i /1 /
—] ‘ — . &
v < —
S 5@ ® G iz
.t T
M W
D E_|F G L+Stroke H U
P+Stroke
Unit:mm
AB2R<dimension ZE4ERR I mounting dimension
BORE A B D E F G H K L M N R S PT P U A W X

®40 20 M1&15 30 20 11 36 26 54 50
®50 30 M2ex15 35 30 13 42 34 68 50
®63 35 M3x15 40 35 15 42 34 75 50
®80 40  M35x15 45 35 18 46 40 79 50
®100 50 M4515 55 40 20 50 40 90 69
®125 60 MS50x20 65 45 24 58 48 104 69

13 M10x1.5 65 45 14" 181 38 16 25 16
13 M10x1.5 75 52 38" 214 45 20 315 20
15 MI121.75 90 63 38" 239 63 315 40 315
17 M16x1.5 110 80 12" 261 72 315 40 315
19 M18x1.5 135 9 12" 303 &4 40 50 40
21 M22x1.5 165 122 3/4" 307 63 50 53 50

Z#% CFOBD+TCE! H&#E! Trunnion Mounting Type

K L+Stroke

10 1T

[

@

aC
B
oA

%
J

D)

D E_|F G

Q+1/2Stroke
P+Stroke

]
H % oS 4-N

2-PT J W

X

Ag2R~fdimension
BORE A B D E F G H K L M

®40 20 MI&I5 30 20 11 36 26 54 50 13
®50 30 M2ex15 35 30 13 42 34 68 50 13
®63 35 M30x15 40 35 15 42 34 75 50 15
®80 40 M3x15 45 35 18 46 40 79 50 17
®100 50 M45x15 55 40 20 50 40 90 69 19
®125 60 M50x20 65 45 24 58 48 104 69 21

TR

1B OIS AR TR RER TR, BANEIREETINT,

2 CFO40Z 54 TIBBB500mmEA RS, O FINAEMISKP1S,
3CFORGITFERBIB149mMEE, [FERE (PM) fKiFsRBLE, 177208
BI500mmELERE, JEERE (PM) B2EHSEERE,

A BUEIRIE (D)) HERCMRIE (W) FRISARIIMS0RF, HIMSAREER,
W, JHEEIME,

SASTAEBIEEZ ATz,

213 | R HEBHES

N

M10x1.5
M10x1.5
M12x1.75
M16x1.5
M18x1.5
M22x1.5

Unit:mm
ZH#EMEEIR T mounting dimension

R S PT P Q u \ W X i

65 45 14" 143 72 69 109 20 20 28
75 52 38" 169 80 8 135 25 25 33
0 63 38" 176 82 98 161 315 315 40
10 80 12" 189 89 118 181 315 315 43
135 98 12" 219 1045 145 225 40 40 53
165 122 3/4" 244 1165 175 275 50 50 58

NOTE

1. For rods extending or reducing processing,if the length is not

specified,then it should follow our company's stipulation for processing.

2. Rod thread tooth should be extending into M18*P1.5 for CFO series bore

size 40 whose stroke is more than 500mm

3. For the CFO series whose stroke is not exceeding 1499mm,the length of

piston conforms to specification table for assembling,For those whose

stroke is more than 1500mm,the length of piston conforms to

characteristics table

4. The external diameter should be round when the size of rod cover nut
(®J) and rod nut (®W) is more than M50,W,J refer to its external

diameter. 5. AST stands for adjustable stroke designated by customers






